Theta series

Thursday, 16 September 2021 10:09 AM

$$\begin{split} & \left(\left(x_{1}, \dots, x_{n} \right) \quad \text{positive -definite Z-valued quadratic form.} \right. \\ & \left(Q_{0}\left(z \right) = \sum_{\alpha \in \mathbb{Z}^{n}} q^{Q_{0}\left(\alpha \right)} = \sum_{n=0}^{\infty} R_{Q}(n) q^{n} \quad q = e^{2\pi i z} \\ & R_{Q}(n) = \# \left\{ \alpha \in \mathbb{Z}^{n} \mid Q(\alpha) = n \right\} \\ & e.g \quad Q_{0}(x) = x^{2} \quad \text{Jacobi: theta function} \\ & \left(Q \right) = \sum_{n \in \mathbb{Z}} q^{n^{2}} = 1 + 2q + 2q^{4} + 2q^{9} + \cdots \\ & \left(\frac{1}{4\pi^{2}} \right) = q \left(\frac{2}{2} \right) \quad 0 \\ & \left(\frac{-1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{2}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{2}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{2}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{2}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{2}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{2}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{2}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{2}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{2}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad \theta(z) \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad 2 \\ & \left(\frac{1}{4\pi^{2}} \right) = \sqrt{\frac{2\pi}{4}} \quad 2 \\ & \left(\frac$$

1

Say "
$$\theta(z)$$
 is a modular form of weight $\frac{1}{2}$ on $T_0(4)$
 $\theta(z)^2 \in M_1(T_1(4))$, $T_1(4) = \xi \begin{pmatrix} a & b \\ c & d \end{pmatrix} \in T_0(4) | a = 1 \pmod{4} \xi$
 $\frac{Prpn}{P}$ TCSL(2, R), $V = vol(T \setminus H) < \infty$
 $\Rightarrow \dim M_R(T) \leq \frac{RV}{4T} + 1$

$$\begin{aligned} \text{vol} (T_{1}(4) \setminus \mathcal{H}) &= 2\pi \\ \Rightarrow \quad \text{dim } M_{1}(T_{1}(4)) &= 1 \\ \theta(\vec{z})^{2} &= \left(\sum_{a \in \mathbb{Z}} g^{a^{2}}\right) \left(\sum_{b \in \mathbb{Z}} g^{b^{2}}\right) = \sum_{n=0}^{\infty} r_{2}(n) g^{n} \\ r_{2}(n) &= \#_{2}^{2} (a,b) \in \mathbb{Z}^{2} | a^{2} + b^{2} = n^{2} \\ (a_{1}, \mathcal{K}_{-4}(\vec{z})) &= \frac{1}{4} + \sum_{n=1}^{\infty} \left(\sum_{d \mid n} \mathcal{K}_{-4}(d)\right) g^{n} \in M_{1}(T_{1}(4)) \\ \mathcal{K}_{-4}(d) &= \begin{cases} +1 & , d \equiv 1 \pmod{4} \\ -1 & , d \equiv 3 \pmod{4} \\ 0 & , d = ven \end{cases} \\ \theta(\vec{z})^{2} &= 4 (a_{1}, \mathcal{K}_{-4}(\vec{z})) \\ r_{2}(n) &= 4 \sum_{d \mid n} \mathcal{K}_{-4}(d) \\ (a_{1})/2 \\ (a_{1})/2 \\ d \neq 0 \text{ din } \end{pmatrix} \\ \frac{1}{2} \operatorname{fer m } at \right) \quad \text{Every frime } p \equiv 1 \pmod{4} \text{ is } \\ \operatorname{for } (\operatorname{Fer m } at) \quad \operatorname{Every frime } p \equiv 1 \pmod{4} \text{ is } \\ \operatorname{froof} \quad \Gamma_{2}(p) &= 4 (1 + (-1)^{(p-1)/4}) = \Re >0 \end{aligned}$$

$$\begin{split} \theta(z)^{4} &= \sum_{n=0}^{\infty} r_{\psi}(n)q^{n} \in M_{2}(T, (\psi)) \\ &= r_{\psi}(n) = \mathfrak{M}_{2}^{2}((1, \psi)) \leq \mathbb{Z} \\ \mathfrak{l}_{n}(z) - 2 \mathfrak{l}_{2}(2z), \quad \mathfrak{l}_{2}(2z) - 2 \mathfrak{l}_{2}(4z) \\ \mathfrak{l}_{2}(z) - 2 \mathfrak{l}_{2}(2z), \quad \mathfrak{l}_{2}(2z) - 2 \mathfrak{l}_{2}(4z) \\ \mathfrak{l}_{2}(z) &= \frac{-1}{24} + \sum_{n=1}^{\infty} \sigma_{n}(n) q^{n} \\ \sigma_{q}(n) &= \lambda_{n}^{2} \mathfrak{d}^{k} \\ \theta(z)^{4} &= 1 + 8q + \cdots \\ \theta(z)^{4} &= 8 (\mathfrak{l}_{2}(z) - 2 \mathfrak{l}_{2}(2z)) + 16 (\mathfrak{l}_{2}(2z) - 2 \mathfrak{l}_{2}(4z)) \\ \frac{\mathfrak{pr} \mathfrak{p} n \quad n \in \mathbb{Z}_{>0}, \quad r_{\psi}(n) = 8 \sum_{d \neq 0} \mathfrak{d} \\ \mathfrak{d}_{>0} \\ \mathfrak{loc}(\chi) &= \frac{1}{2} \chi^{4} \mathfrak{d} \chi, \quad \chi = (\chi, \dots, \chi_{m}) \\ \mathfrak{l}_{d \neq 0} \\ \mathfrak{Q}(\chi) &= \frac{1}{2} \chi^{4} \mathfrak{d} \chi, \quad \chi = (\chi, \dots, \chi_{m}) \\ \mathfrak{l}_{d \neq 0} \\ \mathfrak{Q}(\chi) &= \frac{1}{2} \chi^{4} \mathfrak{l} \chi, \quad \chi = (\chi, \dots, \chi_{m}) \\ \mathfrak{l}_{d \neq 0} \\ \mathfrak{l}_{d$$

Defn - Level of Q := Smoll est positive integer N
such that NA⁻¹ is even integral

$$\cdot \Delta := (-1)^m \det A$$

 $\exists 1$ dirichlet character module N
 $\mathcal{K}_{\Delta}(p) = \left(\frac{\Delta}{p}\right)$ for ptN odd prime.
Then (Hecke, Schoenburg). Let Q: $\mathbb{Z}^{2,k} \to \mathbb{Z}$ be a
positive definite guadratic form level N, discriminant Δ .
 Θ_Q is a modular form on $T_0(N)$ of weight k
Character \mathcal{X}_{Δ} i.e.
 $\Theta_Q \left(\frac{\alpha \mathbb{Z} + b}{c\mathbb{Z} + d}\right) = \mathcal{X}_{\Delta}(\alpha) (c\mathbb{Z} + d)^R \Theta_Q(2)$
 $\mathbb{Z} \in \mathcal{H}$, $\binom{\alpha}{c} \frac{b}{d} \in T_0(N)$
proof USES Poisson transformation formula.
 $Q: \Delta \to \mathbb{Z}$, $\Delta \mathbb{Z}$ -modul e
 $(\mathfrak{X}, \mathfrak{Y}) = Q(\mathfrak{X} + \mathfrak{Y}) - Q(2) - Q(\mathfrak{Y})$ is bilinear.
choose a lattice $\Delta \subset \mathbb{R}^m - \frac{(\mathfrak{X}, \mathfrak{Y}) = |\mathfrak{I} \times \mathbb{I}|^2 \mathbb{Z}^2 + \cdots + \mathbb{Z}^2}{\mathfrak{X}}$
we say Δ is unimodular when $Q(\mathfrak{X}) = \frac{1}{2} \|\mathfrak{X}\|^2$
is unimodular.
 $Q(\mathfrak{X}) = \frac{1}{2} \mathbb{Z}^* A \mathbb{Z}$
If A even integral unimodular then A^{-1} even integral
so theorem $= \mathbb{Z} = \Theta \in M_R(T_1)$ $T_0(1) = T_1 = SL(2, \mathbb{Z}).$

Prop Let Q:
$$\mathbb{Z}^{m} \to \mathbb{Z}$$
 positive definite even integral
unimodular form. Then
i) $\mathbb{S}[m]$
ii) $\mathbb{A}s = n \to \infty$, $\mathbb{A}s = \mathbb{Z}^{n} \setminus \mathbb{Q}[\infty] = n^{3}$
 $\mathbb{R}_{Q}(n) = \frac{-2R}{B_{R}} = \mathcal{O}_{R-1}(n) + O(n^{k/2})$
 $R = \frac{m}{2}$, B_{R} kth Bernoulli number.